Garden Shed Homework – S2

Consider the following:

The janitors need your help in solving a problem:
“How much will it cost to treat the exterior walls of this shed with 2 coats of wood preservative?”
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In your groups consider all the information you would need to gather to give the janitors an answer to their question.
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In the following activities you are going to measure the dimensions of a shed.

You will use your measurements to make a scale drawing of the net of the shed, calculate the area of wood required to make it, the cost of applying two coats of wood preservative and the volume of the shed. 

(Outcomes MNU 3-11a, MTH 3-11b, MTH 3-17c)
In the answer book provided, ensure you write your name, the date and the heading - Garden Shed Homework at the top of the first page. Also give the full name of each task before each section of your work. 

Task 1 – Measuring the shed.

This is a photo of the shed in the quad, in the corner between the cage and the canteen.



This is a sketch to show the shape of the shed and what measurements you should make.


In your jotter make a note of the following four dimensions, using either centimetres or metres (to the nearest cm).
Length
Width

Height of the side wall
Height to the highest point of the roof

Paste the table of measurements from all groups into your answer booklet.
Using these values, explain and show your calculations to give a single value for each of the above measurements.
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Task 2 – Drawing the net.
Using a scale of 1cm to 30cm, make a scale drawing of the net of the shed.
Show your calculations for working out the measurements in centimetres (to 1 dp).
Your drawing should look like this.


Remember to mark all the REAL lengths on your net.
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Task 3 – How much wood is needed to build the shed?

You are now going to use the net you drew in Task 2 to work out the surface area of wood that is needed to make the shed.
You will need to work out the area of each of the shapes on your net and add them all up to get the total surface area.

Show your working clearly giving the name of each section you are calculating i.e.

      Area of roof = ……………       ;      Area of front - …………..    etc


REMEMBER

Area of a Rectangle = Length x Breadth

        A = lb



Area of a triangle = ½ of Base x Height


    A = ½bh

Area is measured in square centimetres (cm2) or square metres (m2)

Please check your calculations. 
In class we calculated the following:

Roof area = 2.3661 m2
Side wall area = 4.0152 m2
Floor area = 4.2303 m2
Front or back area = 4.2303 m2
Total surface area = 23.7366 m2
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Task 4 – What is the volume of the shed?


You are now going to work out the volume of the shed.

If you tip the shed over to lie on its front 

it forms a prism with a base shaped like this.

You measured the shed in Task 1 so you should know 

what the dimensions of the front are.

You can use these to calculate the area of the 

front of the shed.

To calculate the volume of the shed we use 



Volume of a Prism = Area of Base x Height


REMEMBER



Because you have tipped the shed over, the front of the 

shed is now the base and the height is what you originally 
measured as the length of your shed.



Volume is measured in cubic centimetres (cm3) or 
cubic metres (m3)
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Task 5 – What Will it Cost?

Calculate how much it would cost to treat the walls of the shed with 2 coats of wood preservative.                                                                        

5 litre tins cost £7-98

5 litres covers 20m2  
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The width of the two roof sections will be the same as the length of the sloping edge on the back or front.


Use a ruler to measure this on your scale drawing before drawing the roof sections.
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REMEMBER: If your scale is 1cm to 30cm, this means that 1cm on your scale drawing represents 30cm in real life.





To change a real measurement into a measurement for your scale drawing divide by 30.


So 


		173cm ÷ 30


		= 5.7666666…cm


You should draw this as 5.8cm as your ruler only measures to the nearest millimetre.
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